A STORY OF UNITS Lesson 11 Problem Set m

Name Date

1. The total weight in grams of a can of tomatoes and a jar of baby food is shown
to the right.

a. The jar of baby food weighs 113 grams. How much does the can of
tomatoes weigh?

b. How much more does the can of tomatoes weigh than the jar of baby
food?

2. The weight of a pen in grams is shown to the right.

a. What is the total weight of 10 pens?

b. An empty box weighs 82 grams. What is the total weight of a box of
10 pens?

3. The total weight of an apple, lemon, and banana in grams is shown to the right.

a. If the apple and lemon together weigh 317 grams, what is the weight of the
banana?

b. If we know the lemon weighs 68 grams less than the banana, how much
does the lemon weigh?

c. What is the weight of the apple?
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4. Afrozen turkey weighs about 5 kilograms. The chef orders 45 kilograms of turkey. Use a tape diagram to
find about how many frozen turkeys he orders.

5. A recipe requires 300 milliliters of milk. Sara decides to triple the recipe for dinner. How many milliliters
of milk does she need to cook dinner?

6. Marian pours a full container of water equally into buckets. Each bucket has a capacity of 4 liters. After
filling 3 buckets, she still has 2 liters left in her container. What is the capacity of her container?
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